$SN9YoM 10" 10

125/
8'G/
9¢'G/
666G/
6+'G/
886/

0rsz

£r6/

:SNOYOM ~1rodd

[0)
166/
1662
266G/
26'GJ
686/
r6'G/
886/
G99t/
25’6/

Z0t | £867

HERRAA

%299
0]
Z0c
%57
%52
%299
7899

v90 | X999 | 0/t/

og’l

S SNOMVUIHVA

0r'0
181

jo)
QA

05
05¢
< 050
9/l

6/ 8 2 9 & ¥ £ g I 0 g /|| 9

C
+ o 98¢
N

1+ O 0F0

-8 6 O II- ¢I- £I- #I- §- 9 /- 8- 60

:200

M1

MOOT

=

L

=

11dNNL IANILYH

1 dNNL IONILYH

t t t t t =4

=

L2

=

G5

Ey 2
ac'g/

g£'9/

96/

1£°6/
6%/

:SNOYOM 10" 1D

:SN9YoM " rodd

T-6.4

JOONISE NR.

6.
[PAP
976/
18'G2
286/
062
8252 | ppcy
0,6/
Sryvl
rEG.

3TV

%0t | 896/

%299
T
z0e
s
%52
%299
%299

SNONVIIHVA

890 | X299 | gpt)

0r'0
61

&)
SV

[}
1« g8z
05¢

05¢

< 050
/81

0F 0

9g7

6l & /2 9 G &l £ 2 1 0

O
@
N
Q|

| £ < - g ¢ |\#u G 9| L |8 6- 0- /- 2l- ¢I- ¢- G- 9 /- 8- 6/- Oc-
t t t t t t t t t t t t t t t t t t t t =/ E

f s

=L

Sz

oL

L2

=4

=

L

[

11dNNL IANILYH

1dNNL IGNILYH

jal

=L

=y

oL

L2

=P

£r6/

6I'G.

rIG.
16/

$SNO9YoM 10" 10

G/l

S

£96/
£9G/

696G/
696G/
2567

9967|255/

PASKSVA

(82
[

66/

:SNOYOM ~1rodd

%199

o)
Z0c

%57

%52

X0t | 556/ 9z'6)

%299

%299

S3TIVA

650 | #2999 | 9cty

0r'0
61

0g's

0g¢

281

0r'0
£e

S SNOMVUIHVA

jo)
QA

o

C
+ o 9879

<l 050

LOy|

§- 6- 0 /- dl- £I- ¢ G- 9I- /- 8- 6/- 0d

11dNNL IONILVH

1 dNNL IGNILYH

=

L2

52

Iva tee teeprojekti tooprojekti projekteerimine km-l 0,003-1,468.

RISTLOIKED PK 3+75 KUNI PK 4+75

:SNOYOM 10" 10

r0'G/.
G062
rZ'G.

Gre/
0062
YA

6r1/
1567
8r/

z
B m 1SN9YOY *royd

(=471
056/
996/
1567
[ 4P
£5'67
Sv'G/

3TV

Z0t | ££°G

%299
)
Z0<c
pira
%52
%299
%299

SNONVIIHVA

80 | X999 | £0¥/ | St/

0r'0
61

05¢
05°¢
< 050
/81
0F0
9z

&)
SV

6l & /2 9 G & £ <2 7 0

T O
@
N
G
Nel
+ 1 987

| £ < - g ¢ |\#u G 9| |5 6 0- /- 2- ¢I- ¢l- G- 9 /- 8- 6/- Oc-
t t t t t t t t t t t t t t t t t t t t /2 E

3 z
] z
= w
z i)
o) 3
fe)
[ S
=
IS
B S
SRR
S| o 'S/S
QLND,W
SEHE
SIRSINES
g3 52
n| & >~
NS
Oa/mw
Mf.au
KRR
RRCEd
x| o > <

[ele] 10

=

f s

=L

Sz

oL

L2

=4

[@F4

/L

=

L2

=

11 dNNL 1GNILYHY

1 dNNL IANILVA

=

jal

=L

=y

oL

L2

=P

80t/

£6%/

sz

206,

68t/

Stvl

$SNO9YoM 10" 10

82t/
09%/

206/
2£'6.

155/

a6/

6r'g/
6r'c/
r6'e/

:SNOYOM ~1rodd

ZLN

ZL0

%57

%52

Z0t | 086/

S3TIVA

oS’/

ar's

0g's

0g¢

296 | X005

S SNOMVUIHVA

j.)
QA

N
Rel

<l 050

g- 9- /-

§- 6-

1 o] 0F0

1 o 0€

£ vI- G- 9- /- 8Bl 6]- 0d

I dNNL IANILYH

1 dNNL IGNILYH

oz G+

/2

oL
L2
=9

o
IS
Q.
SIS
HRGA
N
S
L/Sm
ST e
Wmﬂ
GRS
SHISERS
: I
S
o
X
S
S
=
E
)
©
<
o
S
N
-
© o~
>
©
X
)
Q
1=
= o




